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Question 1
Question Type: MultipleChoice

With regards to disaster recover, what industry term describes * "the maximum amount of time it should take to restore application or

system functions following a service disruption'?

Options: 
A- Recovery Point Objective

B- Recovery Time Objective

C- Restore Point Duration

D- Restore Time Duration

Answer: 
B

Question 2
Question Type: MultipleChoice



When connecting an Application Server running on a VSI to a database server running on Bare Metal in IBM Cloud, which of the

following is the recommended connectivity option at the lowest cost?

Options: 
A- Via a Direct Link VPN

B- Over the IBM Cloud private network

C- Through the public network

D- Using VPC VPN

Answer: 
B

Question 3
Question Type: MultipleChoice

Which of the following is a Cloud native container monitoring and trouble shooting service?



Options: 
A- API Gateway

B- IBM Cloud Monitoring with Sysdig

C- IBM Log Analysis with LogDNA

D- PortWorx Enterprise

Answer: 
B

Question 4
Question Type: MultipleChoice

When designing infrastructure for critical business applications, transactional databases, or virtual machines that require low-latency,

why might you use Block storage instead of File storage?

Options: 
A- Block Storage LUNs can be connected to authorized devices through redundant multi-path I/O (MPIO) connections



B- Block Storage LUNs have data at rest encryption using in-house managed keys

C- Block Storage LUNs can be used for file-based NFS shares

D- Block Storage LUNs can connect to authorized devices in another IBM Cloud datacenter

Answer: 
A

Question 5
Question Type: MultipleChoice

How is access to the IBM Cloud Container Registry controlled?

Options: 
A- Watson service credentials

B- An open-source system named Cloud Foundry

C- A platform-built using Docker to run and manage your applications

D- IBM Cloud Identity and Access Management (IAM)



Answer: 
D

Question 6
Question Type: MultipleChoice

Which of the following aggregates logs in IBM Log Analysis with LogDNA?

Options: 
A- Distributed logging system

B- Private cloud system built for logging

C- On-premises logging system

D- Centralized logging system

Answer: 
D



Question 7
Question Type: MultipleChoice

Which of the following IBM Cloud Paks provides Al capabilities?

Options: 
A- IBM Cloud Pak for Data

B- IBM Cloud Pak for Application

C- IBM Cloud Pak for Al

D- IBM Cloud Pak for Integration

Answer: 
A

Question 8
Question Type: MultipleChoice



What is IBM App Connect in IBM Cloud?

Options: 
A- A tool used to increase operational reliability and agility by using event-driven guidance, automation, and notification to prompt the

right activity to resolve important issues

B- A tool used to integrate your cloud-based or on-premises applications for data transformation and automate repetitive tasks

C- A tool used to address system management needs that are useful to cloud-based applications

D- A tool used to improve operational efficiency by using real-time analytics to identify and resolve problems faster

Answer: 
A

Question 9
Question Type: MultipleChoice

Which are two benefits of IBM Cloud Functions? (Choose two.)



Options: 
A- Scale up or down automatically

B- Visual debugging

C- Based on Kubernetes

D- Focus on code, not infrastructure

E- Out-of-the-box connectors to several databases

Answer: 
A, D

Question 10
Question Type: MultipleChoice

To get the most out of Endurance File Storage, which option specifies performance?

Options: 



A- Choose IOPS catalog items from NFS that manage performance configuration settings

B- Choose IOPS storage tier that feature pre-defined performance limits

C- Choose configuration items from NFS that configure performance levels to fit workloads

D- Choose from NFS catalog items from that manage performance configuration settings

Answer: 
B

Question 11
Question Type: MultipleChoice

Which VMware application mobility technology seamlessly extends on-premises data center networks into IBM Cloud?

Options: 
A- VMware HCX

B- VMware NSX

C- VMware vSphere



D- VMware Horizon

Answer: 
A

Question 12
Question Type: MultipleChoice

Why should removing the Veeam service from a deployment be done with caution?

Options: 
A- Agents are left on the VSIs which can degrade performance

B- The service agreement carries cancellation costs of up to 1 year

C- If a backup is currently running, it can corrupt the filesystem

D- Doing so irreversibly deletes all the previous backups

Answer: 



A
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